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Candldates are required fo g:ve their answers ln !
-+ theirown words as far as practicable.

The figures in the margin indicate full marks.

% Answer from both the Groups as directed. |
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Candidates are required to give their answers in

their own words as far as practicable.
The figures in the margin indicate full marks.
Answer from both the Groups as directed _
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Time '3 hours ~
 Full Marks : 80

_ Cand:dates are requ:red to give their answers in
their own words as far as pmctlcable

The figures in.the margin indicate full madcé. .

- .Answer from both the Groups as directed.
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- 2015-18
Time : 3 hours
Full Marks : 80

Candidates are required to give their answers in .

their own words as far as practicable.
The figures in the margin indicate full marks.

Answer from both the Groups as per direction. !
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COPYRIGHT RESERVED  VUG(3) — Beng (6)

2015-18

Time : 3 hours

Full Marks : 80

‘Candidates are required to givq’! their answers in

" their own words as far as practicable.
- The figures in the margin indicate full marks. = *¥

Answer from both the Groups as per direction.
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COPYRIGHT RESERVED  VUG(3) — Beng (7)

2015-18
Time : 3 hours
Full Marks : 80

Candidates are required to give their answers in

their own words as far as practicable.
The figures in the margin indicate full marks.
Answer all questions.
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2015-18
Time : 17 hours '
 FullMarks 40
Candidates are required to give- their an.swerls- in
their own words as far as practicable.
The figures in the margin indicéte full marks.

Answer from both the Gmups' as directed.
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